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TERM TWO MID TERM EXAM 2010
BIOLOGY FORM TWO

1. The scientific name of the housefly is Musca domestica. Classify the fly into

i. Genus __________________________________________________________________________	(1mk)
ii. Species _________________________________________________________________________	(1 mk)
2. State one function of each cell organelle listed below
i. Ribosomes............................................................................................................................................... (1mk)
ii. Centroles............................................................................................................................................... (1 mk)
iii. Rough endoplasmic reticulum.............................................................................................................
........................................................................................................................................................................(1 mk)
3. Name two constituents of gastric juice.						(2 mks)
.............................................................................................................................................................................................................................................................................................................................................................................. 
4. State the role of diffusion in living organisms.					(3mks)
.............................................................................................................................................................................................................................................................................................................................................................................. 
.............................................................................................................................................................................................................................................................................................................................................................................. 
.............................................................................................................................................................................................................................................................................................................................................................................. 
5. The diagram below shows two types of patters of lignification in xylem vessels
a. Name the pattern in 
i. Figure 1 ....................................................................................................................................(1 mk)
ii. Figure 2 ................................................................................................................................... (1 mk)

b. Apart from lignifications in xylem vessels, state two other adaptations of xylem vessels.										(2 mks)

.............................................................................................................................................................................................................................................................................................................................................................................. 
.............................................................................................................................................................................................................................................................................................................................................................................. 
6 a. What is transpiration?								(2 mks)

.............................................................................................................................................................................................................................................................................................................................................................................. 
.......................................................................................................................................................................................
b. List three environmental factors that affect transpiration.			(3 mks)
.............................................................................................................................................................................................................................................................................................................................................................................. 
.............................................................................................................................................................................................................................................................................................................................................................................. 
7. The equation below represents a process that takes place in plants.
6CO2 + H2O                    C6H12O12
Carbon (Oxide + Water)    glucose

a. Name the process.									(1mk)
....................................................................................................................................................................................... 
b. State two conditions necessary for the process to take place.			(2 mks)
.............................................................................................................................................................................................................................................................................................................................................................................. 
8. An experiment was set up as shown in the diagram below.











The set up was left for 30 minutes
a. What process was being investigated?						(1 mk)
....................................................................................................................................................................................... 
b. State the expected results.							(1 mk)
.............................................................................................................................................................................................................................................................................................................................................................................. 
c. Account for the results stated in (b) above.					(3 mks)
.............................................................................................................................................................................................................................................................................................................................................................................. 
d. State the function of the visking tubing in this experiment.			(1 mk)
.............................................................................................................................................................................................................................................................................................................................................................................. 
e. Explain why grass dries a few days when common salt is spread on it.	( 2 mk)
.............................................................................................................................................................................................................................................................................................................................................................................. 
9. The diagram below represents an organelle involved in respiration.








a. identify the organelle.								(1 mk)
.......................................................................................................................................................................................
b. Name the parts labeled X and Y.				
X....................................................................................................................................................................................Y.................................................................................................................................................................................... 
10. State the function of the phloem tissue in plants.				(1 mk)
.............................................................................................................................................................................................................................................................................................................................................................................. 
11. The diagram below represents a cell.



a. Name the parts labeled A, B, C, D and E.						(5 mks)
A....................................................................................................................................................................................B....................................................................................................................................................................................
C....................................................................................................................................................................................D....................................................................................................................................................................................
E....................................................................................................................................................................................
12. Below is a plan diagram from a cross-section of dicotyledonous plant stem.










a. Name the parts labeled F, K, L, M and N.						(5 mks) 
F....................................................................................................................................................................................K.................................................................................................................................................................................... 
L....................................................................................................................................................................................M................................................................................................................................................................................... 
N....................................................................................................................................................................................
b. What differences would you expect t observe between the above section and a section of a stem of a maize seedling.							(2mks) 

..............................................................................................................................................................................................................................................................................................................................................................................
13. A student estimating the cell size of an onion epidermal cell observed the following on the microscope field of view using a transparent ruler.







The student counted 20 cells across the field of view. Calculate the size of the cell in the micrometer. Show the working clearly.










14. State four adaptations of a leaf to its function.					(4 mks)

..............................................................................................................................................................................................................................................................................................................................................................................
..............................................................................................................................................................................................................................................................................................................................................................................
..............................................................................................................................................................................................................................................................................................................................................................................
..............................................................................................................................................................................................................................................................................................................................................................................
15. The dental formula of a certain animal is I 0/3  C 0/1   P 3/2  M 3/3

a. i. Suggest the mode of feeding of the animal.					(1 mk)

.......................................................................................................................................................................................
ii. Give a reason for your answer in part (I) above.				(2 mks)
..............................................................................................................................................................................................................................................................................................................................................................................
b. Work out the total number of teeth in the animal whose dental formula is indicated above.											(2 mks)






16. Explain why pepsin is produced by gland along the alimentary canal as pepsinogen.
											(2 mks)

..............................................................................................................................................................................................................................................................................................................................................................................
SECTION B
An experiment was carried out to investigate haemolysis of human red blood cells. The red blood cells were placed in different concentration of sodium chloride solution. The percentage of haemolysed cells was determined. The results were as shown in the table below.

	Salt concentration g/100cm3 (%)
	0.33
	0.36
	0.38
	0.39
	0.42
	0.44
	0.48

	Red blood cells haemolysed (%)
	100
	91
	82
	69
	30
	15
	0



a. i. Plot a graph of haemolysed red blood cells against salt concentration.	(6 mks)

[image: ]

ii. At what concentration of salt solution was the proportion of haemolysed cells equal to non-haemolysed cells?								(2 mks)

..............................................................................................................................................................................................................................................................................................................................................................................
iii. State the percentage of cells haemolysed at salt concentration of 0.45%

..............................................................................................................................................................................................................................................................................................................................................................................
b. Account for the results obtained at 
i. 0.33 percent salt concentration.							(3 mks)






ii. 0.48 percent salt concentration.							(3 mks)







c. What would happen to the red blood cells if they were placed in 0.50 percent salt solution?										(3 mks)

.............................................................................................................................................................................................................................................................................................................................................................................. ..............................................................................................................................................................................................................................................................................................................................................................................
d. Explain what would happen to onion epidermis cells if they were placed in distilled water.											(3 mks)

..............................................................................................................................................................................................................................................................................................................................................................................
..............................................................................................................................................................................................................................................................................................................................................................................
18. Describe how the ileum is adapted to its function.				(20 mks)

..............................................................................................................................................................................................................................................................................................................................................................................
..............................................................................................................................................................................................................................................................................................................................................................................
..............................................................................................................................................................................................................................................................................................................................................................................
..............................................................................................................................................................................................................................................................................................................................................................................
..............................................................................................................................................................................................................................................................................................................................................................................
..............................................................................................................................................................................................................................................................................................................................................................................
..............................................................................................................................................................................................................................................................................................................................................................................
..............................................................................................................................................................................................................................................................................................................................................................................
..............................................................................................................................................................................................................................................................................................................................................................................
..............................................................................................................................................................................................................................................................................................................................................................................
..............................................................................................................................................................................................................................................................................................................................................................................
..............................................................................................................................................................................................................................................................................................................................................................................
..............................................................................................................................................................................................................................................................................................................................................................................
..............................................................................................................................................................................................................................................................................................................................................................................
..............................................................................................................................................................................................................................................................................................................................................................................
..............................................................................................................................................................................................................................................................................................................................................................................
..............................................................................................................................................................................................................................................................................................................................................................................
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